P

Aviation

N\

SERVICE BULLETIN NUMBER 122 ISSUE 1

TITLE Quik wing keel roll bearing bolt hole cracking and other damage.

CLASSIFICATION The CAA have classified this bulletin as mandatory.

COMPLIANCE For aircraft with more than 150 hours total time, action must be taken
within the next 5 hours. Action must be before further flight following any
heavy landing.

APPLICABILITY All Quik Wings up to and including serial no 8184.

INTRODUCTION

A few Quik wings have been found to suffer from local fatigue cracks in the wing keel at the roll
bracket bearing hole (RBBH) where the M6 bolt locates the bearing to the keel. Typically those
with cracks have either been training aircraft or subject to a higher than normal number of take
offs and landings.

ACTION

Owners of aircraft with more than 150 hours flight time are required to check their wing keel
RBBH for cracking within the next 5 hours or arrange for modification of the keel to M139
standard.

After a heavy landing the keel area must be checked before further flight whatever the
modification state.

If no damage is found, the original design keel can continue in service up to a maximum of 500
hrs or 4 years whichever is earlier, provided the check is repeated every 50 hours. After the
maximum life, all keels must be modified to M139 standard.

CHECK

In order to check the wing keel RBBH, the wing needs to be removed from the trike, and the
6mm Cap Head Bolt (item 18, figl) removed from the Roll Bracket Bearing (item 13, figl).
Remove the nose cone and nose batten. Fold the wing down flat and de-tension it ( see operator’s
manual). Remove the two keel to noseplate bolts and the self tapping screw nose batten locator.
This will enable the keel plastic protector tube to be slid forwards ( the Leading Edge bolts may
have to be slackened to aid removal). Remove the plastic protector tube and cut off 25mm from
the rear end.

Slide the roll bearing forwards to expose the RBBH area and inspect using a torch and
magnifying glass for elongation, fretting or cracks.

10F 4




P

Aviation

When re-fitting, use new nyloc nuts. Use firm finger pressure on a standard allen key when
tightening the roll bearing bolt. Observe the shape of the bearing; do not over-tighten to the
extent it becomes oval. Check free movement of the roll bracket. If the nylon threads strip,
contact the factory.

For subsequent checks, with the shortened keel protector tube the roll bearing can be slid far
enough forward to inspect the entire hole area in situ once the 6mm bolt has been removed.

If small cracks, elongation or fretting are detected, with the total damage zone confined to a
diameter less than 9mm, the keel can be recovered by incorporating modification M139. Please
contact the factory to arrange for the wing/keel to be returned for modification. If more damage is
found then the wing keel will need to be replaced with a genuine new factory part. Keel
replacement can only be carried out by either factory personnel or experienced wing service
centres.

P&M modification M139 has been introduced to reinforce the RBBH area with a 3/8” (9.525mm)
interference fit bush tube and additional inner keel sleeve. A damaged area up to 9mm diameter is
therefore removed completely. The keel modification can only be carried out by the Factory.
After fitment the keel must be inspected as part of the existing Quik maintenance manual
schedule.

DOCUMENTATION

If the check is satisfactory an entry must be made in the airframe logbook to say “wing keel hang
point hole checked for cracking found to be satisfactory, to be checked every 50 hours up to a
maximum total life of 500 hours or 4 years, whichever is earlier”. If a modified keel is fitted, then
“P&M modification M139 (reinforced wing keel) fitted”. Check and replacement entries must be
signed by both the owner and an independent BMAA inspector.

ISSUED BY: Chief Engineer W.G.Brooks

DATE 10/07/06

Contact 01672 861350 or 01706 655134

email technical@pegasusaviation.co.uk or flyving@pmaviation.co.uk

Unit B, Crawford St, Rochdale, Lancs OL165NU

20F4




0& ®
Aviation

Note: NYLOCk NUTS s ved BE
TRIGHIENED TO BRIAG TR ASSEMBLY
FLRmLY TOGETHER = DO AOT OuERTIGHTEA

FMSH- 15
@ pEFORE FITTING _21:,__0\11'( ROLL_GRACKET A-041
i ZTEeaR 250200
| BLock @ ROLL_BRACKET SPACER BLOCK Dir-073 |
H QUIK_HANG BOLT -+ LANYARD Vo3- 31307
i K_GHANEL BOLT D010
21 [KINGPOST COCATOR EVEGOLT AL, Yaz-11
NoTLA: FOR QU To () |23 CUlX CONTIOL FRAME CHANNEL ~
17105 1D X 32 0D HYLON WASMEN
SYSTEM omLy 1 M6 ¥ 80mey CAP HEAD BOLT
DRI ADDITIOAAL buava | 17]Mn Voo T VoL NUT
HOLE  3m KEEL owLY 15| B/1E LD STEEL VASHER.

FROM  EXTSTLAMC

wite Trem (3

Notg: SpRrIN& TTEM
@O TO INSTALL SPACER [Fi]Ve ¥ Simm ComTR A TAF HER0 SCRER

FOR TTEM (1B), 30mm
FURTHER TO WARDS REAR
HOLE .
SLIDE TTEM (B) 3omwa
REARWARD AND PostTTON

15{5/1€ X 1 174 X 1/16 M/STEEL WASHER

2 1/8 X M0 PLASTIC SAGBLE

(CKET BEARING ] NF—0gs
S AWELL 50_ 22074 3 PT32-002
‘4 W/STERL WASHER TALP Fwa-Te
FAUANE
VSST-g0c
Fus-HB-2:
L6038
ZcH-oos_|
FaC5- 001
[s i) FRST001
2w PUSH PINS 1 FB-501
/3% 174 UNF 1iES BAT 7 FAl-34
7/ % 1/4 UNF HEX BOLT v Fauaz

SOLAR WINGS AVIATION Ltd

Date Name

Drown 1101332 _ﬂfs/

neproves [ B nabl)

Crecked |/0) p/égpm <

Drowing No.

KEEL EYE GOLT MOD

150603

MELY

NUIAL ISEUE

121002

. | Dascrintion of -evsinn

Jale

YQC~ 010

Figure I Quik Keel Assembly, the hole is where part 18 passes through the keel tube.

Photo

bearing

Figure 2
Of  Wing
showing roll bracket
slid ~ fully
forwards.

Check for cracking

G35 N HILSY



Aviation

Crack Starts Here Towards Rear
Of Keel.

Figure 3
Photo Showing Elongation and
Cracks

40F4



